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         cfly{s ljsf;

१ s[lif sfo{qmd j8f g+= $ 200,000

       ko{^g tyf ;+:s[tL

1 lbgf eb|L dlGb/ lgdf{0f j8f g+= $ 100,000

2 hou'? dlGb/ lgdf{0fqmdfut j8f g+= $ 250,000

3 /fd hfgsL dlGb/ lgdf{0f -bf?bf;_ j8f g+= $ 100,000

4 /fwfs[i0f dlGb/ lgdf{0f j8f g+= $ 150,000

5 b'uf{dlGb/ 5t 9nfO{ j8f g+= $ 100,000

6 ef]nfafaf dlGb/ lgdf{0f j8f g+= $ 100,000

7 hfuL/f sfnL dlGb/ lgdf{0f j8f g+= $ 100,000

8 dxf/fhyfg lgdf{0f ;Gtf]ifL dlGb/, ;'s'Daf;L j8f g+= $ 110,000

  n}lËs ;dfgtf tyf ;fdflhs ;dfj]zLs/0f

        dlxnf

1 dlxnf l;nfO{ a'gfO{ j8f g+= $ 120,000

2 dlxnf a'l6s tflnd j8f g+= $ 100,000

       afnaflnsf

1 jfnjflnsfsf] nflu v]n;fdfu|L ljt/0f j8f g+= $ 70,000

2

P;=O=O= k/LIffdf pTs[i6 c+s Nofpg] $ g+= 
j8fsf 5fq5fqf dWo] % hgfnfO{ 5fqj[lQ -
;fd'bflos ljBfno_ j8f g+= $ 50,000

3 cflbjf;L hghftL sDKo"6/ tlnd j8f g+= $ 90,000

4 dw]zL d':nLd lk58f ju{ sDKo"6/ tflnd j8f g+= $ 90,000

5 blnt ju{sf nflu jfv|f ljt/0f sfo{qmd j8f g+= $ 60,000

6 ckfËtfsf nflu Gofgf] sk8f ljt/0f j8f g+= $ 60,000

7 Ho]i7 gful/sx?nfO{ 5ftf ljt/0f j8f g+= $ 60,000

     o"jf tyf v]ns"b

1 v]nd}bfg Joj:yfkg tyf 3]/fj]/f j8f g+= $ 200,000

2 j8f :t/Lo sfo{qmd -v]ns'b_ j8f g+= $ 100,000

     k"jf{wf/ ljsf; tkm{ 

uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no

4 g+= j*f sfof{no

j*f:t/Lo sfo{qmd
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uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no

4 g+= j*f sfof{no

j*f:t/Lo sfo{qmd

     ;*s

1 ejfgLk'/ kf]v/L klZrd ;8s u|fe]n j8f g+= $ 300,000

2 hou'? dlGb/ klZrd uf}/Lof vf]nf ;8s u|fe]n j8f g+= $ 300,000

3

;'lg/fd 6'8'sf] 3/ b]lv uf}/Lof vf]nf af6f] 
u|fe]n j8f g+= $ 400,000

4

cNtfjf/L k"j{ kms]l6e x'b} sb'le§f sNe6{ 
;Dd af6f] u|fe]n j8f g+= $ 400,000

5

/fd gf/fof0f 3/ klZrd uf}/Lof vf]nf ;8s 
u|fe]n j8f g+= $ 200,000

6 6]k'jfsf] 3/ b]lv x|bosf] 3/ ;Dd af6f] u|fe]n j8f g+= $ 200,000

7

s[i0f tfhk"l/ofsf] 3/ k"j{ ls:gL vf]nf af6f] 
lgdf{0f tyf u|fe]n j8f g+= $ 200,000

8 l;df k|x/L rf}+sL klZrd af6f] u|fe]n j8f g+= $ 200,000

9

Zofd tfhk"l/ofsf] 3/ b]lv sdnsf] 3/ 
;Ddsf] af6f] lgdf{0f j8f g+= $ 100,000

10 x|o"d kfOk vl/b j8f g+= $ 400,000

     ljB"t

1 ljB't lj:tf/ j8f g+= $ 200,000

2 ;f]nf/ ljt/0f -phf{_ j8f g+= $ 250,000

     cGo lgdf{)f

1 l;df k|x/L rf}+sL 3]/fj]/f j8f g+= $ 150,000

2 l;df k|x/L rf}sL k|ltIffno dd{t j8f g+= $ 50,000

3 k|ltIffno lgdf{0f ejfgLk'/ j8f g+= $ 100,000

4 ;/:jtL k|flj= 5]p k|ltIffno lgdf{0f j8f g+= $ 50,000

5 k|ltIffno lgdf{0f 8Dd/sf] 3/ 5]p j8f g+= $ 100,000

     jg tyf jftfj/)f

1 k"0f{ ;/;kmfO{ sfo{qmd j8f g+= $ 50,000

2 uf}r/0f Joj:yfkg ls:gL vf]nf j8f g+= $ 50,000

     ;'zf;g tyf ;+:yfut ljsf; 

34 hgk|ltlglw / sd{rf/Lx?sf] cjnf]sg e|d0f j8f g+= $ 90,000
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uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no

4 g+= j*f sfof{no

j*f:t/Lo sfo{qmd

6,000,000


